§ 11:3-10.4 Adjustment of total losses

(H If the insured vehicle is a private passenger automobile of the current
model year, meaning that the vehicle has not been superseded in the
market place by an officially introduced succeeding model, the insurer shall
utilize one of the following methods in the settlement of the loss, unless the
utilization of (a) or (b) above is more favorable to the consumer.

1. Either the insurer shall pay the insured an amount equal to the
reasonable purchase price on the date of the loss of a new identical vehicle,
less any applicable deductible and an allowance for depreciation in
accordance with the schedule below; or

2. The insurer shall provide the insured with a new identical replacement
vehicle charging the insured for any applicable deductible and for
depreciation in accordance with the schedule below:

Depreciation Schedule

Purchase Price Depreciation per mile
Up to $ 6,500 $0.10

$ 6,501-$ 8,000 0.12

8,001- 10,000 0.15

10,001- 12,000 0.18

12,001- 15,000 0.21

15,001- 20,000 0.25

More than $ 20,000 0.29



